Pure Mathematics

Answers - Differentiation (Year 12)

Exercise A
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Exercise B

1 '.'u":::f'3 2 Bx 3 -l:-:“E

a4 jx ¢ 5 ixv 6 ix °

7 -3 B —4x—° 9 =2x
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13 —2x-3. 14 1 18 3xt

16 9" 17 Sx* 18 3’

Exercise C

a 4x—~6 b x+12 c 8r

d lax+7 e 4-10x

a 127 b & c 7

d 2} e -2 f 4

4.0 4 (-1, —8)
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Exercise D
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a 4dx'-x? b -x—* c -X
a 0 b 11}

3 a2L-6) b (4 -4)and(2 0)

c (16,-31) 4 k(L -9
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Exercise E
i
1 X b -&x! G <igns
1
d jx- 222 e —6fx-i+ix?
2
f 3 -1x2 g -3x2 h 3+6x?
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1 24x-8+2x? -

2 w1 b c -4 d 4
Exercise F
1 24x+ 3, 24
2 .15—13:::'2, a3 ,
3 fxi+end —fx ¢ - 18k
4 3x+2 30
§ =¥ 232-=-16c3 G+ 48x"

Exercise G

1 2(—-3 2 2Im

3 —123 4 O8R

5§ 1-5r* 6 —12+8t
7 10-2x
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Exercise H

1 a y3x-6=0 b 4y-3x-4=0
c 3y-2x-18=0 d y=x
e y=12x+ 14 f y=1l6x-22
a 7y+tx—-48=0 b 17y +2x-212=0
(15, 15)

y=-x,4y+x-9=0
y=-8+10,8y-x-145=0
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